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XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R5.2.28IR7E JATHET 4 (K=F) AlE A AOD (B)

THET(KF)2—F {THET(KF)E 40 418 42 43 44m% 45  46i% 47mk 48 49

WO OOOOO—-=NMNOGOI -0 W—= — 0 — 00

9220 $RHTHEH 2 3 7 3 6 4 12 8 4
9230 FEETE M 7 3 13 11 10 5 4 7 3
9240 $RHTIEE 3 2 4 3 4 4 2 3 5
9250 3 ET At #rith 10 11 4 5 7 7 4 6 5
9999 fERIX &t 86 72 79 83 71 87 82 73 80 9
9310 R[FHET:AR 0 0 1 2 1 2 2 2 4
9320 FFHATIL 2 0 4 3 1 3 0 3 3
9330 H[SHET/INE 2 1 1 2 1 0 0 3 0
9340 R [ZHTRY 4 4 3 7 2 5 3 2 4
9999 H[G#XEt 8 5 9 14 5 10 5 10 11
9410 RET T & 5 3 1 2 4 2 8 3 5
9420 RHETHE 0 1 2 3 1 0 4 0 1
9430 RHETERK 2 0 0 0 1 1 1 1 0
9440 RETAEF 0 0 0 0 0 0 0 0 0
9450 RETHEIR 0 0 0 0 0 0 1 0 0
9460 RET{—_HE 0 0 1 0 1 0 0 0 1
9470 RETER 0 0 0 0 0 0 0 0 0
9480 RHETHER 0 0 2 0 0 0 0 1 0
9999 RiXXEt 7 4 6 5 7 3 14 5 7
99999 H&Et 658 721 636 679 695 732 721 739 788 82



XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R5.2.28IR7E JATHET 4 (K=F) AlE A AOD (B)

THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

10 tHHT 1 0 1 3 2 1 2 4 2 3
20 fE&LET 1 1 4 1 1 3 1 2 1 0
30 @M 3 2 4 4 1 3 0 1 3 2
40 SRET 1 3 1 0 2 2 0 2 0 0
50 KET—T B 5 4 4 3 1 1 1 1 2 2
60 KET=TH 5 2 4 2 6 0 2 2 0 3
70 RET=TH 2 2 4 4 3 10 5 3 7 5
80 AT IEHET 3 1 1 1 2 0 1 1 1 2
90 PN I ET 1 0 1 4 3 2 4 4 2 2
100 b ALET 1 2 6 3 2 0 1 1 1 1
110 #3THT 27 22 15 14 16 22 12 14 14 11
120 ¥A;TAHT 3 5 2 1 4 1 1 4 1 3
130 #&FHT 5 6 7 4 4 2 2 10 5 3
140 EAEET 0 0 0 0 1 0 0 0 0 0
150 1 FFrHET 5 10 8 3 5 5 3 5 6 4
9999 KB XEt 63 60 62 47 53 52 35 54 45 41
510 AETHT B 2 5 6 4 4 3 3 2 3 2
520 HpEEMT 1 3 4 2 1 1 1 0 0 2
530 J\It&HET 2 3 2 0 2 1 2 4 2 3
540 15 EHT 12 3 4 4 6 5 4 11 7 6
550 FithET 7 10 6 9 8 7 3 5 5 7
560 = ZLHT 1 1 2 0 2 1 1 2 1 1
570 & EHT 3 0 0 1 1 0 0 2 1 0
580 #rBHET 1 4 0 1 0 0 1 4 3 0
590 FriEMT 0 0 0 0 2 2 0 0 1 0
600 ZEARET 2 9 7 6 5 7 7 9 9 6
610 JEHT 2 2 1 0 4 1 2 0 5 1
630 ¥TERTZTH 0 0 0 0 1 1 0 0 0 0
9999 J\ KX &t 33 40 32 27 36 29 24 39 37 28
1010 R HT 2 3 2 6 6 3 0 4 3 3
1020 k£ A HT 2 6 6 3 2 2 1 4 3 3
1030 H1 FrHT 8 4 1 1 1 4 4 3 3 2
1040 &5 HT 3 9 4 3 3 5 3 5 7 8
1050 £ FHHET 7 8 7 12 13 6 8 4 4 10
1060 F _EHT 10 8 10 3 8 4 8 12 5 8
1070 YR HET 8 6 10 10 6 11 10 3 11 5
1080 EHHET 6 6 8 2 9 8 7 4 8 11
1090 BiEHT 4 9 8 4 3 10 7 10 6 2
1100 £ B &HT 8 9 8 6 3 4 5 9 6 3
1110 $Z1EHET 1 2 3 0 3 0 0 0 0 2
1120 #21E JTHT 2 2 0 1 1 0 0 0 0 2
1130 +5:HT 0 1 0 0 0 1 0 0 0 0
1140 FkJRET 0 1 0 1 0 0 0 0 0 1
1150 #JRET—TH 1 1 3 1 0 3 4 1 3 0
1160 #/RET—T B 3 2 4 2 3 3 4 2 6 3
1170 ;5 /KHET 2 1 3 2 4 4 0 1 4 3
1180 & ALET 2 3 1 4 3 0 1 5 4 1
1190 ¥ F AHET 1 2 2 1 0 2 3 3 1 2
1200 XFHEI—TH 2 4 2 1 1 2 2 1 3 0
1210 XFHEIZTH 2 0 0 2 0 2 3 0 3 3
1220 T 3 1 0 3 2 1 1 1 3 3
1230 #EHET 2 1 1 3 2 4 2 1 2 3
1240 EZEHT 2 0 5 2 0 2 1 1 2 1
1250 fEERT 3 3 1 1 2 2 2 1 1 3
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[R5.2.28IR7E JATHET 4 (K=F) AlE A AOD (B)

THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59
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1270 EEHT
1280 ARAHET
1290 $RHET

1300 % ZEHT
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9999 XHEMX &t
1510 }E#D_E BT
1520 }EHD T ET
1530 }EHTHET
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9999 HEMIB X 5T
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2020 % BT
2030 E0HT
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2080 ¥ RETZ=TH
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2100 fhiLHET

2110 HEMNETET—T B

2120 HEWIETET—T B 4

9999 £ ERXET 41 49 52 45 53 41 44 42 50 49
2510 $AUEHET 25 34 31 25 28 28 17 20 23 20
2520 SKEEHT 19 20 14 17 28 22 19 23 16 14
2530 = /INERET 6 10 5 7 5 10 4 12 4 3
2540 Fi5HET 6 9 2 10 6 4 1 6 4 9
2550 ;HET 4 4 1 0 2 3 7 2 4 2
2560 = ST 10 15 12 8 15 7 11 11 11 9
2570 K EHT 1 0 1 1 0 1 1 0 1 1
9999 MNEXET 71 92 66 68 84 75 60 74 63 58
3010 KATHT 12 9 9 12 12 14 13 10 14 13
3020 ;@I HT 9 22 13 9 9 17 9 14 9 17
3030 L EFET 13 15 9 16 13 15 8 13 10 14
3040 B _EAT 1 2 4 4 2 7 1 2 2 3
3050 wy BRI A AT 35 21 28 26 28 35 29 19 27 16
3060 A ESTET 5 4 8 2 8 4 7 14 6 4
3070 tHBREHT 4 6 4 9 10 3 3 8 4 5
3080 H AT 8 2 5 5 6 4 3 5 3 3
3090 FH R ERAT 5 4 3 6 6 6 4 3 4 2
3100 H A FHHET 8 10 9 2 6 5 6 4 4 10
3110 HepiLET 5 4 5 4 6 3 5 5 8 5
9999 J\ T X &t 105 99 97 95 106 113 88 97 91 92
3510 £ R _EHT 3 0 0 1 0 4 1 5 2 9
3520 2R T 6 7 7 7 3 5 0 4 2 6
3530 2R THT 14 19 17 15 8 14 8 14 3 9
3540 Z= B KHT 11 5 3 2 3 10 1 2 10 4
3550 AEFHT 12 5 9 6 12 10 18 8 7 12
3560 &= T ERAT 2 7 1 4 0 2 2 5 0 3
3570 & T Ao 9 8 15 4 5 15 9 4 6 12
3580 LI HET 6 10 5 9 8 4 8 9 9 12
3590 ;EMT 0 0 1 0 0 0 0 0 0 1



XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R5.2.28IR7E JATHET 4 (K=F) AlE A AOD (B)

517 52i%

THRET (KF)3—F {THRET(KF)%& 50
9999 S HKXET 63
4010 41| NET
4020 {ESHT
4030 15HT
4040 = HEAHT
4050 7K SHT
4060 EZZ HHET
4070 Jt/RHET
4080 =;T;HAMT
4090 FR KT
4100 g F0HT
4110 JbFFn@T
9999 &M XEtT 3
4510 EREE—ZEHT
4520 AREE— ZEHT
4530 AREE=ZHT
4540 EREEIUZEHET
4550 EREE FZEHT
4560 EREE/NFEHET
4570 EREE-HZHET
4580 AREE/\FHET
4590 EREE N ZEHT
4600 AR EE+ZEHT
4610 AREE+—ZBHT
4620 EREE+ —ZHHET
9999 ARERXET 2
5010 FAF0H HEHET
5020 FAF0BAEET
5030 RRF0R]{—HET
9999 AN XET
5510 b R ET
5520 = Hh T
5530 74 '= M7
5540 dy ZRT
5550 ERHT
9999 = kX 5t 1
6010 FEIHET/MER
6020 [ZHT
6030 [ERTA I
6040 Bz FHT
6050 JI| AETE
6060 JI| BT FE
9999 FEERXET
6510 HZEAFBHET
6520 HZ A KIEHT
6530 B ZE AFHHET
6540 BZEALLUTHT
6550 B =AM Z NET
6560 HZ&=ALGILHT
6570 H R AIEFHT
6580 B ZAEHRT
6590 HZ= ATHET
6600 B Z A HHT
6610 H&XA L FHHET

- 2 O 0 W -0 = = WOOUMNNMN—-O - WOOMNWWO®W—-POW—-=-N-"-"NDNOOON-DN—-OPPOCWUDNMNOMNMNWWO - =

61

OO ON—-NOWOWONWWWMNO—-O00OO IO WOSOOWN—-0OWWwoOoO == =0OMNMNN—-"L—= 0o -0 PLhWw—-0LWUALANWSH

58

- 0O 00O - -0 WPAPAROOONW—LOODO O PLPOOO—=0L0DOIN—-WWO--DMNONMN-—-=-"-N—- 0O —~O0Oh~hoag—-wWOo1IlWhHh-—-OW

53 54i%

48

- W

NO—-=-DNO—-—-0—-0JO === = WOWOWWN-" 4 WWONAN—- -0 -0 = =DNOWNWOPMOODOON —= H

39

O = N—- 01 = = O - DMNOO - N—-—NOWOOWOPUWON—-WON-NDMN—-O0ODO0O -0 WPAhUuOOONO—-OOOONO WO

55i% 567%

64

- W

O - OO ONNDNWAEN—-0WUAODD—-—N—-"WOPANOAOMNOION—-WWN—=-—=—=0O0PhO0OwW—_=NJO-=DNAONOOGO N -0 —= p

47

- 0O 00O 0O - == W0 - MNW—-—-000MNMNPO—-—DNO—-—-00C0OMN—-~ 0O -0~ ONMNOWOWO-=DMNOODW—-_WoIOOO-—=-DN

57 58i%

51

O - O - W= WO == NOON—-ON—-=-"CUGNNNINNOW—- PO =DNNONMNMNMNMNO—- - WO hMOoOOOJOP,P,PTAWWUNSIN

39

- W

- 2 OO MNMNO LN OO - = W—-=N—-0W--DMNIPOLOWO - DBDDOOOMNDMNMN-=-DNO—LTOWO—-WOWWNW-_—JWWWIO—

59i%

[=2]
[ee]

OO - N—-O0OONDNDPIE—=L0-=-DMNMNMNO—-OOWOOHOJWOUNNOOLWOOITWDNAOONOONDIDTAIdIAIdI=DNNWWNIIWDNOOW



XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R5.2.28IR7E JATHET 4 (K=F) AlE A AOD (B)
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XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R5.2.28IR7E JATHET 4 (K=F) AlE A AOD (B)

THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

9220 $RHTHEH 7 10 7 4 6 7 8 5 3 9
9230 SxET &M 7 12 4 6 7 9 8 9 12 8
9240 $RHTIEE 2 0 5 3 4 4 3 3 5 4
9250 $EETILHrith 7 5 8 3 2 6 6 4 12 7
9999 fERIX &t 74 76 86 72 77 88 82 91 89 95
9310 R[FHET:AR 1 2 1 1 1 1 3 3 3 4
9320 FFHATIL 3 1 3 4 3 3 2 4 6 1
9330 H[SHET/INE 2 0 1 2 3 2 0 3 6 0
9340 R [ZHTRY 2 2 4 2 5 7 3 6 12 3
9999 H[G#XEt 8 5 9 9 12 13 8 16 27 8
9410 RET T & 2 3 2 6 3 4 6 4 7 5
9420 RHETHE 3 2 3 4 3 2 3 3 4 1
9430 RHETERK 0 1 3 1 1 6 2 4 0 1
9440 RETAEF 0 0 0 0 0 0 0 0 0 1
9450 RETHEIR 0 0 0 0 0 0 0 0 0 0
9460 RET{—_HE 1 0 0 0 0 0 0 2 0 0
9470 RETER 0 0 0 0 0 0 0 0 0 1
9480 RHETHER 3 1 1 0 2 0 1 1 2 2
9999 RKXEt 9 7 9 11 9 12 12 14 13 11
99999 H&Et 753 781 758 700 731 784 647 7156 753 748
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TRET (K a—F THRET(KF)®& 60 61/ 62/ 63/ 64 65i% 66 67i 68 69

10 HAT

20 [ d-HT

30 @M

40 LRHET

50 KET—T B

60 RET_TH

70 RET=TH

80 AT IR AT

90 FEHATIRAT

100 b ALET

110 #A;THT 1
120 #A;TAHET

130 t&FHT

140 HEAE BT

150 1 FFrHET
9999 KB XEt 4
510 AETHT B
520 4L EEMT

530 J\It&HET

540 15 EHT

550 FithET

560 = ZEHT

570 EEHT

580 ¥TREAET

590 FriEMT

600 ZERHET

610 FHT

630 FERT T B
9999 J\ KX &t 3
1010 S HET
1020 £ A HT
1030 H1 FrHT
1040 78 /T HT
1050 = HHET
1060 F _EHT

1070 7R ET
1080 & HHET
1090 HiEHRT
1100 EBiEHT
1110 fRIEMT

1120 #21E JTHT
1130 +5&HT
1140 FkJRET
1150 F/RET—T B
1160 #/RET—T B
1170 ;5 /KHET
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[R5.2.28IR7E JATHET 4 (K=F) AlE A AOD (B)

THET(KF)a—K {TEET (K=FE)® 603 6173 623 63/ 645 65/ 66F 67/ 68F 69

1260 B &
1270 EEHT

1280 ARAHET

1290 $RHET

1300 % ZEHT

1310 RJLHT

9999 XHEMX &t
1510 }E#D_E BT
1520 }EHD T ET
1530 }EHTHET
1540 K1ZFHT
9999 HEMIB X 5T
2010 £ E AT
2020 % BT
2030 E0HT

2040 ET—T H
2050 ;MET=T H
2060 #g e ET

2070 FxET—TH
2080 FRET—TH
2090 HigAT

2100 fhiLHET

2110 HEMNETET—T B
2120 HEWIETET—T B
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2520 SKEEHT

2530 &= /NRHET
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2550 ;HET

2560 = ST
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3110 A4 dLET
9999 /\FHE&XET
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3530 /R THT
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—_
o

N
GO = 0 WNOOW—-= == 0MNWOXZO—-—DN—=WNO

—_

NN b
— 00O OO N

w —_ —_
— 00w O O oo

—
- o
O WA WOWNMNWNDMNMNOOIOGIOOO PA~O IO

—_

©

—_

N N
O WW—-NMNMNO—=-—- 000 WOWN-—-DIOPM-=DNMNMNNDO

- N b
—_ O =

w —_ — —- —_
WO - OO WOONMNOWOW

—_ — = [ee)
00 = = OO BRANIANWWWOWM

—_
oN

— ©

N

N
— A =2 0 = WMNMN,PO—=-WOOOLONI—-DI -2 DN-—-0—-O0

— W
N - NOOGNO

w - - o
H WO O0o W

OO P~ JWDAOMNMWANdWEADS

g
g

N
AN WOWWOOGOMNDMNMNONDMNONOOOJOTWWO —=-WN

u—y

105

- O

w
OO OO O0CT OG-~ NPMPODDOWOKLWOSOOKWOW—=0NOPMM—=-NDO

—_

— —_—— — —_ N
O OMNOSOWNPMOOIOI—m O©Nd D

—_ —_ [o'e)
OO N —-WWWIINOWOWPIAWO IO

—_

— - ©
N OO I JOO—-=DNN—=

I
o

N
A NOGAWONO—=DMNN-—=-O

45

—_ —_ [oe)
O NONONOOOo = 00NO©Oo oo

—_—

A NODN—==DNDN

w
WWw—= = WwWN-—=-=0WwWOo-—=

N N O1
WD W

N —_ = ~ —_
DN = O © 0O w

- ©
O N0 O oo anN—-=-wWJdo NN

—_

—_
o

—_
WWPADNMNOOONOOUO = WONOPMOOOONDNWWN—

w

w

- N
g~ OOWSAO

—_ N [ =) —_
VW ph == WOoOLOOOo

10

N
0= W= WMNONMN—-OD

S
ol

21

—
N O N O

—_ —_
© © 00N b

GO b bhOOO G W=

100

ON—-=DNO —

w — = O
O NDNNDN

w
N oaprrOPPAW—=L WO~ —=>H

- N O
O N Ph OO OO W

N [ =)
o OB DN WN W

—_
N - o
——OoONTOOaP~Ddp =0 0ONOGO

—_—



XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R5.2.28IR7E JATHET 4 (K=F) AlE A AOD (B)
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4100 g F0HT
4110 JbFFn@T
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4610 AREE+—ZBHT
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6060 JI| BT FE
9999 FEERXET 1
6510 HZEAFBHET
6520 HZ A KIEHT
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8060 IR AHTFT
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9040 F THTHERH 13 17 25 21 21 16 20 17 17 12
9999 F T XEt 41 50 52 47 58 45 44 44 58 54
9110 SRET T Hik 11 5 2 4 6 7 9 8 4 8
9120 SFEETH L 0 2 3 2 5 2 0 3 6 4
9130 $RETH B 1 1 4 3 4 2 2 2 5 2
9140 SFEET T #F 7 7 9 8 3 13 6 10 5 3
9150 $EMET L £& 3 11 6 15 5 6 2 6 6 7
9160 SRHETER4T 5 10 11 3 9 7 7 10 10 9
9170 $ERTAH 6 12 16 13 1 9 8 11 13 11
9180 SRETER 7 9 9 8 9 6 11 10 18 9
9190 #ERTZ O 1 2 4 1 2 4 3 7 5 4
9200 $EHTEFIF 3 6 7 6 0 6 7 2 0 1
9210 $EET=H 3 3 10 6 4 7 4 5 9 6
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9440 RETAEF 1 0 0 0 0 1 1 1 1 0
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9460 RET{—_HE 0 1 2 0 0 2 0 2 0 1
9470 RETER 0 0 0 0 0 0 0 0 2 0
9480 RHETHER 2 0 0 1 1 0 1 0 1 3
9999 RKXEt 18 12 16 10 9 17 19 14 21 19
99999 H&Et 770 753 843 840 819 825 856 900 933 914
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TRET(KF)a—K {TEET(KFE)L 705 71% 72 73 74% 75 716k 71 718 79

1260 ABEFR 3@ 1 0 0 1 1 0 1 0 1 1
1270 EEHT 3 1 2 1 1 1 2 4 2 0
1280 ARAHET 1 5 2 2 3 2 3 0 1 2
1290 £RHT 3 0 0 0 2 5 6 0 3 0
1300 % ZEHT 0 3 1 0 1 3 2 1 1 1
1310 RJLHT 1 1 0 0 1 1 1 1 1 1
9999 XHEMX &t 88 88 94 124 112 110 73 52 77 72
1510 #EHN BT 7 6 13 12 12 7 5 5 4 10
1520 }EHD T ET 7 13 14 8 14 13 12 4 5 6
1530 HEHNSTHT 5 3 2 6 4 9 4 3 8 5
1540 K123FHT 10 4 5 7 10 12 4 7 2 7
9999 HEMNI X ET 29 26 34 33 40 41 25 19 19 28
2010 = S5 HET 4 0 1 4 3 4 4 1 3 3
2020 % &7 1 5 3 1 1 4 1 0 1 2
2030 ET 0 0 1 3 2 1 0 0 0 0
2040 JET—TH 1 2 7 2 6 2 3 1 5 0
2050 ;MET=T H 3 2 4 2 5 2 6 3 3 0
2060 ¥5 i HET 1 2 1 1 2 2 1 0 1 0
2070 FxET—TH 5 3 1 8 4 2 6 2 2 4
2080 +RETZ_TH 3 3 3 4 0 2 5 0 1 5
2090 wy g ET 25 26 28 25 29 31 21 14 16 22
2100 HibHET 4 5 1 7 3 2 3 1 1 2
2110 HEMNETET—T B 6 6 4 2 5 5 3 2 1 1
2120 HEWIETET—T B 5 4 4 4 4 3 3 0 1 2
9999 £ ERXET 58 58 58 63 64 60 56 24 35 41
2510 $AUEHET 27 27 23 30 38 24 20 10 17 18
2520 sk EeHT 20 12 21 16 25 16 1 7 10 6
2530 = /INERET 9 6 7 5 3 7 2 1 2 1
2540 Fi5HET 9 9 3 14 5 11 9 3 4 5
2550 ;HET 3 9 1 2 4 3 1 2 1 4
2560 = ST 10 15 15 19 19 20 10 7 9 10
2570 K EHT 2 0 3 4 3 1 2 1 1 0
9999 MAE X5 80 78 73 90 97 82 55 31 44 44
3010 KATHT 13 18 10 14 17 11 14 8 20 11
3020 ;@I HT 14 12 13 17 18 15 11 7 13 3
3030 L EFET 11 9 7 8 11 9 6 4 6

3040 B _EAT 3 3 0 5 1 0 1 2 2 1
3050 wy BRI A AT 20 21 26 47 25 29 19 8 13 22
3060 THESTHT 9 7 7 5 6 10 7 3 9 7
3070 tHBREHT 8 14 6 10 6 5 5 1 5 2
3080 H AT 1 4 7 7 5 4 3 3 2 6
3090 FH R ERAT 2 8 6 5 2 2 1 5 5 1
3100 H A FEHET 4 8 6 5 8 4 6 3 3 2
3110 HepiLET 5 6 9 4 14 11 4 3 4 4
9999 J\ T X &t 90 110 97 127 113 100 77 47 82 64
3510 £ R _EHT 6 3 4 6 6 1 2 0 1 1
3520 2R A HT 5 3 8 15 10 5 7 2 6 4
3530 2R THT 16 17 13 16 18 8 8 12 7 9
3540 Z= B KHT 4 5 4 10 10 6 7 4 2 3
3550 AEFHT 9 5 17 14 19 11 10 9 9 8
3560 &= T ERAT 6 2 5 4 6 4 3 4 0 4
3570 = T AT 17 15 13 16 12 18 10 7 9 12
3580 LI HET 5 5 7 7 15 9 12 4 3 6
3590 ;EMT 0 0 1 0 0 2 0 0 0 0
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5540 dy ZRT
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6530 B ZE AFHHET
6540 BZEALLUTHT
6550 B =AM Z NET
6560 HZ&=ALGILHT
6570 H R AIEFHT
6580 B ZAEHRT
6590 HZ= ATHET
6600 B Z A HHT
6610 H&XA L FHHET

—_. = AN =2 W0 PR~ 00WPL, =W DPOOOO NGO PANNO—-PO—=WMNDMNMNDMNMNMNMNONMPONDJIJO =00 —=—0 W

MNi% 728
55 12
5 12
2 1
9 6
3 1
10 15
3 6
2 0
5 5
3 5
1 2
0 4
43 97
18 13
2 3
3 4
3 1
1 0
2 0
3 1
1 2
1 4
1 0
0 2
5 4
40 34
4 3
4 3
4 1
12 7
7 4
9 11
16 5
9 3
2 2
43 25
0 2
1 5
1 1
3 4
1 3
5 1
11 16
0 0
5 4
2 5
6 3
2 3
1 4
1 3
3 2
1 0
5 1
1 0

3% TARR
88 96
8 7
0 3
5
1
5 1
7
1
3
7
1
2

N
o

O~ 0O WJdO =L WWOOO =L WPArOW—LNOMNOPAARNW—=—"OPLJdJW—=L—=WNN—_LONOLWAIDN

— O1

AP O 20 = DNOAO—-"O00O0ODWUNDMNMNDNMNWMNDMNODMNMOOPLEA "L OWWWOLONDN—=—=— OO0 - bOONMNWDMWNMNONMNOPMMPO—-O

75i% T6%

64

— O

O OO AN L WA JO-LTNMNIAAON—=- " NODOOUDWN -0 0O = =D —="NON—-=-"DN—-=-BII_AdIDNMNWOOIIO N~ —-OO

59

OMNOON—-N—-WWOW—-O0WOoOOoODWwuOMNWNAONO - =D PA~AN—- O —-000 00 OW = DNOODWNNDEAN—=-J

7%  T8R%

42

— O~ 0 00O P~ DNON—-DNWOO—--WMNMNODOAOPLPWN—~OOCUUN— O~ W—~~rO0O0—~~O0O0—~-=-phpoOo—~~0pr~Lh—="=DNwoo—~o

37

- W

~ NO - O0OMNOW--ADN—-INNOP,LP—- 00 - = DNOOMNWO—-NMNOOWUOOO—~O—0OMNOO - UWWOoO -~ Phowwhror—=woOoOo©

195%

N
~

OO - =0T WO UIOWOWO - W—-==NO—-=-NMNOUOUOWONOPLPLOW—=- == =00 = =NOWNODMNDNO—-W—-=WNWDNMNDNDO®



XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R5.2.28IR7E JATHET 4 (K=F) AlE A AOD (B)
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8060 IR AHTFT
8070 RAHETER
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9999 FT#XEt 45 58 45 62 52 59 3 2 46 35
9110 SRET T Hik 5 12 9 8 7 10 7 8
9120 SFEETH L 1 2 6 6 5 4 2 3
9130 $RETH B 1 1 3 4 2 2 0 6
9140 $RAT T4t 8 15 6 11 4 12 10 7
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9170 $ERTAH 1 14 9 12 18 9 1 9 7
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[R5.2.28IR7E JATHET 4 (K=F) AlE A AOD (B)

TRET(KF)a—K {TEET(KFE)L 705 71% 72 73 74% 75 716k 71 718 79

9220 SEMETHH 9 14 5 13 10 6 4 6 5 6
9230 SxET &M 11 11 11 18 11 13 7 5 8 6
9240 SEETIE K 5 0 3 3 3 5 1 1 3 3
9250 3 ET At #rith 11 6 4 6 8 9 5 3 5 4
9999 fERIX &t 109 121 89 130 111 117 72 53 80 73
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